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ESR S TR = 1 =i Q1 IV NI )
By 3% A FI054E07 H 14 H eI Dt e/ 84 (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
IENE H R 10. 00| AHxf 97 970 1,998 1,900 1,836
H X k¥ 15. 00 | ¥ 300 4,500 1,404 1,036 11
X 5D FiE 10. 00| AH%F 300 3,000| 1,404| 1,169 864
E 9 NAEL o 0. 20| FH%f 160 32 108
H % i 3. 00| FHxf 78 234 1,944| 1,772| 1,566
i A ] 1L 1. 00| FHxf 125 125 864 741 378
= 1| sool st 4] 20| 2,970| 2,201 1,944
AN B 5. 00| FH*} 161 805 2,160 1, 895 1, 404
EN 0.40| fxt| 1,020 s8]  173] 51 76
= O 4. 00| FH%f 686 2,744 1,728] 1,351 648
K F ) 5. 00| FH%F 38 190| 1,836| 1,572 972
= m | 5.00 faxt| 625 3,125| 1,944| 1,715 1,080
-~ & ) 5. 00| FHxf 11 55 1,620 1,581 1,404
EN 0.15| fxt|  es0] 95 86| 84| 81
I £ IR 10. 00| AHxf 76 760 2,160 1,343 540
A7 k= b AL E 3. 00 | FHxt 172 516 2,592 2,270 1,620
ot b 0. 10| FH%f 440 44 157 149 135
= m | 2 oo fxk| 23| 46| 2,700 1,083 864
H 7% w5 5. 00| FHxf 98 490| 2,376 2,164| 1,728
£ A L 10. 00 [ #H % 701 7,010 1,512] 1,175 648
LA R 5 % 10. 00 | #H%f 960 9,600| 1,080 931 648
==L H A £ ¥ 4. 00| FHxf 410 1,640 1,080 805 432
Tuyal— E % 5. 50 | FHxt 25 138 2,916
L xon A 4. 00 | FH%f 9 36 2, 484
AEMEE O 0. 10| #Hf | 2, 700 270 173 129 65
ZDEH E % 0. 20| FA%F 1, 200 240 86 60 49
LU 5 % 0. 20 | FH%f 210 42 86 69 38
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P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz A FI054E07 H 14 H eI Dt e/ 36 k> (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

Yafa— H & 10. 00 | #H%f 27 270 5, 184
PE i % 5. 00| FH%} 240 1,200 2,484 2,327 2,160
ok | sool#xr| e 24| 3,672 3,492| 3,456
TIUxT K B 0. 30 [ #H %} 544 163 346 305 270
S (2 X K 0. 30| FHxf 100 30 432 361 216
B A — % [T 2. 00 [ FH %} 28 56| 4,860 3,857 2,808
B A4 0. 50 [ FHx%} 656 328 356 350 324
BBk AL 0. 20 | FH %} 600 120 486 416 324
R el 16. 00| fHxf 1, 666 26,656 4,536| 3,486 1,728
/NEPE I ) 10. 00| AHxf 425 4,250| 3,240 2,592
Avara 7 4 U E | 13.00| fE%F 32 416 3,380 2,406 594




